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A T
GENERAL KNOWLEDGE

1. TS ShIfd EhR ATSHT 1 G& 399 F=tetfiad § & ®iH-a1 8 7
(A) STTIeRTih Sl | fewdl o SRINT 1 icaTgd
(B) 3TRrehifieh st H IS ol TredTiEd HEAT
(C) WRA T & WTWIaAl bl S Te <Al
(D) T&=<t < =i b T ¢
Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?
(A) To encourage the use of Hindi in official work
(B) To encourage English in official work
(C) To Promote regional languages in India
(D) To honour Hindi poets

2. 3IcHd UIee ol I Iy foRam R 2

In which year was the UTSAV portal launched ?

(A) 2024 (B) 2023 (C) 2020 (D) 2022
3. FE -1 B G — 1l S Ty GATIA HIfoTe a2 g & e feu MU e @ wft 3w g |
T - T -1l
(TTeh) (TTH)
a. 3fae rfem . € T 3% T g
b. fertor eETs . € 3=y 3% «ig
c. I®Ydl U IIl. € SBT3 TR
d. <ft. T\, R IV. 39 T %6 &2
<<

(A) a-1,b=Illl,c=Il,d=IV (B)a-Ill,b—1Il,c—1,d=1IV
(C) a=Il,b—1V,c—1,d=1ll (D)a—IV,b—1,c—1I,d—1l

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Author) (Book)
a. Arwind Adiga I. The God of Small Things
b. Kiran Desai Il. The Inheritance of Loss
c. Arundhati Roy [ll. The White Tiger
d. V.S. Naipaul IV. In a Free State
Code :
(A) a-Lb-ll,c—Il,d-1V B) a=Ill,b-Il,c—-1,d-1V
(C) a-Il,b=IV,c—1I,d-1l (D) a=1IV,b—=1Lc—1ll,d-Il



4. HHA-H AT T, 2024 H T 20 AR HUS BT SR GSARUT A H ATefl TRAT T8t
S §9 T ?

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

5. oo GEER U9 o IATeH o fotw armh ufag 7

(A) ST (B) Heft

(C) &g (D) "
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

6. YRd 1 Tgcll JA: SRS BTSI6IS Tehe &I -| Waifua fepam
(A) 31 femst 2024
(B) 04 femsw 2024
(C) 04 fodeX 2024
(D) 24 3TTE 2024

India’s first reusable hybrid rocket Rhumi-| was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024



7. Tl -1 B g - 11 o |1 gAfera hifse qen gt & i fo e e @ wd 3w g |

T -1 A -1l
(7 forgatererera) (¥T)
a. TS o fovafaeme™ . I
b. =aTSt GUTYEE S o favafaere™ II. hIcTshTdT
c. IYUH TEER gad favafeemer 1. foremagR
d. 9. getolel ¥t go fevafaemer IV. ST

&R :
(A) a-IV,b-1lll,c—1,d—1 (Bla-Ill,b—Il,c—IV,d-1
(C) a=Il,b—1l,c=IV,d=1ll (D)a—IV,b—1l,c—1,d-IIl

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1l
(Open University) (Place)

a. Global Open University I. Kota
b. Netaji Subhashchandra Bose Il. Kolkata

Open University

c. Vardhman Mahaveer [ll. Bilaspur
Open University

d. Pt. Sundarlal Sharma IV. Dimapur
Open University

Code :
(A) a—-IV,b=Ill,c=1Il,d=1 Ba-Illl,b-1Il,c—IV,d-1I
(C) a=l,b=lLc=IV,d=1ll (D)a-1IV,b=1Il,c—1,d-1l

8. 0 U I e w1 wh HI=ies e g T8 ? 7

(A) TREm (B) YA

(C) M= @A (D) ®fiieh TEmd
Which one of the following is not a source of informal agency of education ?
(A) The family (B) The community

(C) General games (D) Religious institutions



9.

10.

11 1 T ITRT § TR ¥ Y& ik FAEId hITT |
|. IS THT HT T
I1. e farfer
I, SNY % 33
Iv. 3Afehei 19U
= feu T e § @ e W g
%<
(A 11,1V, B) I, 1V, 1,11
(C) 1,1, 1v, 1 (D) 1, 10,1, v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) 11,1V, B) I, 1V, 1, 11
(C) 1,1, 1v, 1 (D) 1,1, 1v

= 1 o & o & s it AR (A) TUT QR T BRI (R) HE TR |

TR (A) : TH.3TE. 3R T, Teh bt YOSl B o 9 oepr o e wamers 3
2015 ¥ I& feham o |

THROT (R) : 3778, 3TN T, o1 3299 (o= HIIUS! & YN W AR W § I== e geaqmi s
freugr 3R TReEt qere JeH & 7 |

(&) (A) 3 (R) 3R 7 3 31 (R) , (&) 1w e e 3

B (A) (R)aﬂﬁw%w (R) , (A) 1 T&l =1 TEl il B

(O) (A) & B Wg (R) Terd &

(D) (A) Tefd & TG (R w 2

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,

Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

25



11.

12.

13.

14.

e | ot Ser ufarfedm < yg@ Sy @@ § 7
a. SETfE & JHR 9 TSR W@ |

b. TG Uit i Wiesrarofy ST |

c. TTESX L& S |

d. TR R T § 93 |

= feu MU e ® @ W W G

He:

(A) %o a, b, ¢ (B) 9 a, c, d
(C) &ad ¢, b (D) e b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :

(A) a, b, conly (B) a, c,donly

(C) c,bonly (D) b, donly

&9 g gfauTied FTee Afereh e # Fefefed 8 & % aftrfera 78 2 ¢

(A) Y (B) TSR (C) Tergermor (D) SHIEAT

Which of the following is not included in the cognitive educational objective proposed by Bloom ?

(A) Comprehension (B) Application (C) Analysis (D) Organization

frfafad & @ oF-a1 wh 1€ w6, yoreht &1 uew T8 § 7
(A) BTEAR (B) HTHRIR (C) H= (D) STHfIH TEX
Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
FHFR h HHHI ST Iqeh FHIV o THY T hHT AT 7, FHaAd @
(A) 3R 3T TH (B) IR TTH (C) Mamanw (D) TH W

The memory of the computer which is programmed at the time of its manufacturing is called as

(A) ROM (B) RAM (C) PROM (D) EPROM

25



15.

16.

17.

18.

= 8 9 =1t Hhm gigaan (TarE) Iyt TE 7 7

(A) T & =R (B) it

(C) FARE (D) = St
Which one of the following is not an Atrtificial Intelligence(Al) tool ?
(A) Google Play Store (B) Gemini
(C) Claude (D) Chat GPT

frfefiaa & & % 7er TguuTr 1 B R 7

(A) IISTH (B) THTA (C) Tfrg-amt (D) T
Which of the following is the cause of soil pollution ?

(A) Ozone (B) Aerosol (C) Acid-rain (D) Smog
(A) ISH G T (B) dfrehT a=t i

(C) U= d= (D) 3HST d i

“Limbic system” is part of

(A) Reproductive system (B) Nervous system

(C) Digestive system (D) Excretory system

frafefaa @ @ o wa 3 31 fedew 2024 q THER A B ?
. IRE FRISiE STHIR

TG 3

. GreteH 3Tey

. GETHY TS 3

He:
(A) haet a 3T b (B) @hadl b, ¢ IR d
(C) a, b, c 3N d (D) haet a 3 ¢

Which of the following is a Ramsar site in India as on December 31, 2024 ?
a. Bakhira Wildlife Sanctuary

b. Ramgarh Lake

c. Sundarban Wetland

d. Sultanpur National Park

o o T ®

Choose the correct answer from the code given below :

Code :
(A) aandb only (B) b, candd only
(C) a,b,candd (D) aandconly



19.

20.

21.

22.

23.

24.

(A) AveHH | (OREEIELE: (C) Sergiy | (D) Tafverr &
‘Barren’ Island is situated in

(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy
MTfereh Sl HEAM, g 1 ST el g3 off 7

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954
= g T Td Tl % AW % Wi i ™ 2 | 9@ gt w1 gAE Hifw |

TG T T

1. Yo AR - heey

2. QX deetvg - ERRY

3. Ul detvg - T

4. GUHYR - AT . .

(A) 179 2 W & B) 17 4 &
(C) 27 3 W (D) 2T 4 T &

Ramsar sites and name of states paired below. Choose the correct pair.

Ramsar Site State

1. Sakya Sagar —  Madhya Pradesh

2. Sirpur Wetland —  Tripura

3. Pala Wetland —  Meghalaya

4. Sur Sarovar —  Uttar Pradesh

(A) 1and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
forg srftrorE o refig Td aRel gFl 1 39 AT § Iooiw firerar g 7

(A) STRIFT STTfed (B) TEt wifeq
(C) e ficTE (D) Tt = stfierg

In which inscription both Kalidas and Bharavi are mentioned by their names ?

(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
cfeqor ahient § I fogie o awa el ot 3wt it A1 § -t et < mf oft 7
(A) HA (B) GI=e (C) TSI TSR (D) TR
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) Sergeant Major (D) Major
‘SreTar fohm v § foraft mft oft ¢
(A) TR (B) Teht (C) Tt (D) 35

In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu



25.

26.

27.

28.

29.

30.

ST ATTereht %1 STEURT hI IATT T3

(A) ITEferam o (B) WRd H

(C) TgH TST Tufept o (D) IATEE fohren
The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
HIGE™ AT 1 TUH TR T e TR g3 o ?

(A) 16 3T 1947 (B) 26 SHel 1947

(C) 09 fewmsw 1946 (D) 26 T 1946
When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26 January 1947
(C) 09" December 1946 (D) 26t November 1946

IR & Hfau™ | freafafed § @ S-91 31w 99w Taiiisr § g6fid 8 7
(A) IT=8T 324 (B) 3FT=BT 325 (C) 3= 326 (D) IIL=AT 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
Trae IATET B qRd 1 fova § -1 W 8 7

(A) e (8) fad () el (D) =igd
What is the rank of India in the world in rice production ?

(A) 18t (B) 2nd (C) 3rd (D) 4t

.U, 318, (P.LIL) @ fore U & O el Td 7 7

(A) Hisrger fafamtor (B) JCHIETESA I

() Taferean uatm (D) I H H IS el

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

A § TaAd] o TeTd H IR hl AF] i 1 TAHH L9 o7

(A) YIfrE fepami et ofi a1 g (B) 3= HHT ol S@IET &

(C) Y I =l Teafed HT (D) Weft 7 By ufir 1 Frfiewr
The primary objective of land reform in India implemented in the Post Independence was
(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation

9- 25



31.

32.

33.

LHIGRIE]
MUSIC VOCAL

Tt — | I g - 11 % =1 gaferd hife |

T - | = -1l
a. TYd MREEI
b. TH II. TR Ffes
c. Tifa I[RicED
d. Sfd IV. gan
(A) a—l,b—1IV,c—1lll,d—1I (B) a—IV,b—1lll,c—Il,d—1
(C) a—1lll,b—1l,c—1IV,d—1 (D) a—lll,b—1V,c—1,d—1l
Match List — | with List — II.

List -1 List =1l
a. Gandharva [. Bhinna
b. Gaan Il. Swar Sannivesh
c. Geeti lll. Geetak
d. Jati IV. Druva
(A) a—=1,b—1V,c—Ill,d—1I (B) a—IV,b—1lll,c—1Il,d—1
(C) a—Illl,b—1Il,c—1IV,d—1I (D) a=1Ill,b=1IV,c—1,d—1l

frafafed & & feraet YT et I T e H B ® 7
(A) Sfd T (B) Gfa (QREICK] (D) Ffd

Which one of the following is only used for Nritya and Natya ?

(A) Jati swar (B) Sangati (C) Nirwal (D) Kriti

Sqtfetes, auT-TTe, fid-foam =1 Ty fead 8 7

(A) Tl @i (B) Temmarcht wifta

(C) HHTSH! Teftd (D) Hfesh |fid
Baitalik, Varsha-Mangal and Geet-Bitana are related to

(A) Rabindra Sangeet (B) Himachali Sangeet
(C) Kumauni Sangeet (D) Carnatik Sangeet

-10-
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34.

35.

36.

37.

38.

freferea & @ mud i yR BH-A1 7 ?
(A) S&Y (B) gan (C) |TerT g8 ((RIGED
Which is the Gandharva musical form from the following ?

(A) Prabandha (B) Dhruva (C) Salag sud (D) Geetak

T H fatma’ o1y = ° @ e fotw feran ST 2 7

(A) S&d o THY T o &I WEY &l 3 W o @l ¥ e & fo

(B) SRl W fafir ami < =T &g

(C) TS | HeT o Sicll o TN Hleh

(D) 3TETS % 3IAR-TEd &q

‘Tirobhav’ in a Raag is used for which of the following ?

(A) Hiding the main swaroop of the Raag during improvisation using the swaras of other Raag
(B) Using variety of Taana’s in the presentation

(C) Using the bola’s of mridang in the composition

(D) For voice modulation

IMIGAIGL AT, AT, R T h =B 7
(A) T T (B) T HeER (C) BETL (D) I
Re Ga Re Ma Ga Re Sa, Re Ga Ma, Ma ReRe Pa, belongs to which Raga ?

(A) Gaud sarang (B) Gaud malhar (C) Chayanut (D) Kamod

gy a1 TR & =9 H FA R R 7
What is the gap between Rishabh and Gandhar ?

(A) 9:10 (B) 10:9 (C) 16:15 (D) 9:8

SHfe TRE § qEsT 1 S fohe wR | R S g ¢
(A) 3/ (B) I8 (C) =& (D) =

From which note the moorchana of Jati gayan will start ?

(A) Ansh (B) Grah (C) Nyas (D) Upanyas

-11-
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39.

40.

41.

42.

43.

T T
| | | |
qnﬂ,mlﬁw,ﬁwnn,nq,n,qﬂ,iw,mmzﬁ HS 8 7

q
(A) fogm (B) Y=t (C) wTRfaErT (D) Gedrt
| , Sa | | Sa
Pa Ma Ga, Ma Ga Re Sa, Ni Sa Ma Ga, Ma Pa, Ga, Ma Ga, Re Sa, belongs to the Pakad of
[
Ma
which Raga ?
(A) Bihag (B) Madhuwanti (C) Marubihag (D) Multani

a5 TH IO B BT TrIfd T8 g 7
(A) S<h (B) @ (C) afa (D) 1A
Which is not related to the ‘Dash Prans’ of Taal ?

(A) Chhandak (B) Maarg (C) Yati (D) Kaal

et foepar STt 6 T 2
The number of sansargaja vikrita jatis are

(A) 09 (B) 07 (C) 11 (D) 18

naqd, afian, faq, emw s ?

(A) ferm (B) et
(C) wed™ (D) st

Ga Ma Pa Ni, Dha Ni Sa, Ni Dha Pa, belongs to which Raga ?

(A) Bihag (B) Bhimpalasi
(C) Patdeep (D) Dhanashree

AT | IS 1T Teh 30 § shal § T gift 7

From which matra the aad laya of teental will start in one avartan ?

1
(A) 57 (B) 5

D 5102
3 ©) 3

1 o 5.
2 ©) >3

-12- 25



44,

45,

46.

47.

48.

¢aT, 3T 9 | ek TR 7 7
(A) Tusg fopa CRERIERERI (C) 3 (D) TR

Dhruva, Shampa and Sannipat are types of which of the following ?

(A) Sashabd kriya (B) Nishabd kriya (C) Ang (D) Prastar
TeA T THIEhId T
(A) el (B) I heATl (C) =g (D) Sstar=dt

Samprakriti Raga of Bhupali

(A) Kalyan (B) Shuddha kalyan (C) Kamod (D) Jaijaiwanti

THYR (YT €r9) fopg oM @ gafa @ 7
(A) THR 9E@TES gUHT (B) IRV T@TeST TLT
(C) TR TETES BT (D) Fe T wamEst =

Ramshankar (Pagal Das) belongs to which Gharana ?

(A) Rampur Pakhavaj Gharana (B) Varanasi Pakhavaj Gharana

(C) Gaya Pakhavaj Gharana (D) Kudau Singh Pakhavaj Gharana
HH |

QAT TR LI, fpams e ?

(A) BRI (B) g (C) Her (D) Mg
Ma Ma |

Re Re Pa, Ma Pa Dha Pa, Ga Ma Pa, Ga Ma, Re, Re Pa, belongs to which raga ?
(A) Chayanut (B) Durga (C) Kedar (D) Kamod

g wifid 1 g&T YR HA-AT 8 ?
(A) =T (B) Ygue (C) 2w (D) &R

Which is the base of Rabindra sangeet ?

(A) Khayal (B) Dhrupad (C) Tappa (D) Dhamar

-13-
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49.

50.

51.

52.

WHTS UTE T T
(A) HeR (B) Afeta (C) 9&d (D BSEEREL

Raga of Khamaj Thata
(A) Kedar (B) Lalit (C) Basant (D) Jaijaiwanti

frafefaa o & Ffa 1 sTeeiies 3T HH-A1 7 ?

(A) FagreT (B) W

(C) Har=wm (D) Sedl W
Which of the following is the rhetorical part of kriti ?

(A) Chittaswara (B) Pallavi

(C) Mudracharan (D) Kalpana Swaram

Y. IICT Hd Td TR § ‘Ia9 96 § foha welThR g1 o 7

How many artists used to be there in ‘Uttam Vrinda’ mentioned in Sangeet Ratnakar by
Pt. Sharangdev ?

(A) 16 (B) 72 (C) 32 (D) 12
T — 1! T - 1% Ty gafera |
T -1 g -1l
a. auAT |. T, dTe™, Jeoral
b. T Il. &I
c. Hid . & fd
d. gug \VARGISSIE]
(A) a=IV,b—1Ill,c—1Il,d -1 (B) a=Illl,b—1IV,c—1Il,d—1
(C) a=Il,b—IV,c—1,d—1I (D) a=1l,b—1IV,c—1Ill,d—1I

Match List — | with List — 1.

List—1 List—1I
a. Tarana I. Ragam, Talam, Pallavi
b. Swarjati II. Khyal
c. Kriti lll. Sargam Geet
d. Dhrupad IV. Tillana
(A) a=IV,b—=Ill,c—Il,d-1 B) a=Illl,b—IV,c—Il,d-1I
(C) a-I,b—-IV,c—1I,d-1ll (D) a=Lb—=1V,c—1ll,d=1l
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53.

54.

55.

56.

e gug 6l fohm ST & wrafeE & 7
(A) TUEER (B) TeRER (C) BT
Tansen belonged to which Bani of Dhrupad ?

(A) Khanhar (B) Gobarhar (C) Dagur

Tg, 3nft qen fawehivt foree gafa 7 ¢
(A) ga (B) weY (C) ¥ue

With which are Sood, Ali and Viprakeern related to ?

(A) Dhruva (B) Prabandha (C) Dhrupad
et e = Td:3hIedl T
NRERIES] (B) THehaH! (C) dfera
Morning Raga derives from Poorvi Thata
(A) Bilaval (B) Ramkali (C) Lalit
qH ST |
Frfafaa & @ v-3 & wfia ot T |

i. G HeAl

ii. g

iii. BT

iv. 3G TR
= feu o fyespedt & @ T 3w g -
(A) hadl i qUT iv (B) whaed i, i AT iv
(C) ohard ii, iii AT iv (D) <heTet | T ii
Insert stem.

Ragas having Pa-Re Sangati from the following.
i. Shudhha Kalyan

i. Kamod

iii. Chayanut

iv. Shudhha Sarang
Choose the correct answers from the options given below :

(A) iandivonly (B) i, i and iv only

(C) ii, iii and iv only (D) iandiii only
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(D) Dhamar

(D)

(D) Bhairav
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57.

58.

59.

60.

61.

3NY(h UR TRIEhT 1 T hred | for TMifq & Icqe o T R 7

(A) " TMifd (B) T i (C) Tormm fifer (D) Ererroft
The modern Dhamar Gayaki is deemed to be originated from which ancient Giti ?

(A) Shuddha Giti (B) Goudi Giti (C) Bhinna Giti (D) Sadharani
IR @i forg T % o 7

(A) 3TTRT BT (B) QR =M

(C) fepurn BT (D) SR BT

Amir Khan belonged to which Gharana ?

(A) Agra Gharana (B) Indore Gharana

(C) Kirana Gharana (D) Jaipur Gharana

SHEETS hTeht h TF-Y fohe B0 & & 7

(A) TaTferR CREZEL (C) SRR (D) feeeht
Kesarbai Kerkar belongs to which Gharana ?

(A) Gwalior (B) Kirana (C) Jaipur (D) Delhi
T ¥ FHearor o7 1w e fy ard

(A) T HTT (B) S shemor (C) M (D) &R

Raga of Kalyan Thata with Rishabh as Vadi

(A) Yaman Kalyan (B) Jait Kalyan (C) Kamod (D) Hameer

-1 SffeRtor firgr=a <ht fopee gfaurfea fepam 2

(A) . . qeaq (B) TRV HRYaX &

(C) TRR Ta =™ (D) 1. 1. TR

Who propounded the theory of Raga—Raganga Vargikaran ?

(A) V.N. Patwardhan (B) Narayan Moreshwar Khare
(C) Narayan Rao Vyas (D) V. D. Paluskar
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25



62.

63.

64.

65.

T He@d™ B 6 AT A @i o % %1 AT &5y |

(A) B (B) geg @f

(C) HrEwHg @i (D) e W

Mention the name of Guru (mentor) of Enayat Hussain Khan of Rampur Sahaswan Gharana.

(A) Haddu Khan (B) Hassu Khan

(C) Mohammad Khan (D) Nathhuu Khan

= 4 9 -9 T TSR @hel o 9HH B 7
RESIES) (B) hTeh! (C) e (D) @HTS
Which of the following Raaga is similar to ‘major scale’ ?

(A) Belawal (B) Kafi (C) Kalyan (D) Khamaj

Wi 3 fohaa forgha i 1 3o fRaT 8 7
How many Vikrit swaras mentioned by Bharat ?

(A) 4 B) 7 C) 2 (D) 11

T HfARTE % STEHR BT A% 92 Rl wEd 8 7

(A) TEIH — Sad TR (B) ¥E — YR T+
(C) TR — Y=g Ty (D) RYY — U=H GrEy
What is ‘Consonance of third’ according to Western musicologists ?

(A) Madhyam — Dhaivat relation (B) Shadaj— Gandhar relation

(C) Gandhar — Pancham relation (D) Rishabh — Pancham relation
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66.

67.

68.

IMTCE Hd Ffd TR W R 7

(A) EIT Femeht (B) ¥ =5

(C) AT (D) @ifld O] Tug
The commentary on ‘Sangeet Ratnakar’ of Pt. Sharangdev is

(A) Sangeet Sudhakar (B) Sangeet Chandra

(C) Kalanidhi (D) Sangeet Sar Sangrah

71 1 37k HICTSHATIHR T&! 3TshH | afedd hHife |
. ggesht
II. I BEATTTRR
. T sy
IV. THA HATH
Arrange the following in sequence according to their chronological order.
[. Brihaddeshi
Il. Saraswati Hridayalankar
[ll. Rag Vibodh
IV. Swarmel Kalanidhi
(A) 1L, v (B) I, 1, 1v, 1

©) Lum v (D) L Iv, 1

ek Efid ugfa & ferat sfeat 2 7
How many Jatis of Tala are in Karnatak Music ?

(A) 5 (B) 9 ) 7 (D) 3
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69. U TfIY Ugld sl TR A’ I WA ety |t & =1 | & 90 &

70.

71.

72.

(D) Sigeren

(A) GTHI (B) Ul (C) i

The ‘Slur Note’ of Western notation system is equivalent to the following North Indian classical music
terminology

(A) Khatka (B) Kan (C) Meend

T < e fope 79 © fierd & 7

(A) IR

(B) T acal feay

(©) Feesft

(D) &R Tre

Which Granth mentions Raga Dhyana ?
(A) Natya Shastra

(B) Raga Tatva Vivodh

(C) Brahaddeshi

(D) Nardiya Shiksha

YT Hftd b1 HE T &

(A) TSR TH (B) A H
() afyTm (D) SIAIh
Main interval of western music

(A) Major tone (B) Minor tone
(C) Semitone (D) Diatonic

TIF e[ H T hl Teh HIEH =T A9 9T R had & 7

(A) = (B)

(C) W (D) A Tl
A swar lower by one semitone in staff notation is called

(A) Sharp (B) Natural
(C) Flat (D) Double flat
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(D) Behlava

25



73.

74.

75.

76.

‘Gifid gepte’ TY & G @
(A) IR (B) e
(C) TaT (D) Wa

Who is the author of ‘Sangeet Makarand’ ?
(A) Sharangdev (B) Narad

(C) Matang (D) Bharat

AR fomaa o sred & gwed o dicd ) sare s are yom fage /s 9

(A) ¥ (B) =mHd

(C) FufA (D) AT T

The first Indian Scholar/Thinker explaining Saundarya (beauty) in context of Kavya was
(A) Bharat (B) Vaman

(C) Krishali (D) Abhinav Gupta

T8 TR R 7 319H TY W Tl o ‘CoHd ®Y' U ACHT ®9 hl F=@i hl g ?
(A) == (B) HTTY (C) THHS Hid (D) feemua
Which author, in his text has mentioned the ‘Devmaya Rup’ and ‘Naadmaya Rup’ of Swaras (notes) ?

(A) Lochan (B) Somnath (C) Ramkrishna Kavi (D) Vidyaranya

‘BA-h1p 1 Ty e A T e § 7
(A) TS HUS & I

(B) dmn i ey &

(C) T T g |

(D) &7 &

To which of the following ‘Kshetra-Kaku’ is related to ?

(A) Human voice
(B) Sound of the instruments
(C) Purity of the Raag

(D) Area
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77.

78.

79.

gifid § SH-91 ded ‘T-GHe ¥ gy @Al & ?
(A) GHar (B) Iura (C) |t

Which element of aesthetics in music is related to ‘Swar-Samvad’ ?

(A) Symmetry (B) Proportion (C) Balance

reavme U W@ faga foea te 1 afla g 2

(A) TR (B) =Y ORIEE]
In which chapter of Natyashastra is Rasa Siddhant mentioned ?
(A) Third (B) Fourth (C) Fifth

Tt — | g - 11 @ gafed #t

gt - | g -1
a. Hedh i, ARETg
b. YRGS ii. heT
Cc. HUBA iii. 3|
d. anfeeh iv. I
= feu fospeui o @ Tl W T
(A) a—i, b—ii, c—iii, d —iv (B) a—ii,b—i c—
(C) a—iii, b—ii,c—i,d—iv (D) a—iv,b—i,c

Match List — | with List — 1.

List -1 List -1l
a. Kathak i. Tamil Nadu
b. Bharatnatyam ii. Kerala
c. Kathakali iii. Odisha
d. Odissi iv. Uttar Pradesh

Choose correct answers from the options given below :

(A) a—i, b—ii,c—iii,d—iv (B) a—ii,b—i,c—

(C) a—ii,b—ii,c—i,d—iv (D) a—iv,b—ic

-21-

(D) U=

(D) Harmony

iv, d —iii

— i, d —iii

iv, d —iii

— i, d —iii

25



80.

81.

Stg el § fIamem 1 yg@ &g o
(A) IRIUTET (B) STz
(C) defyreT (D) 3@Y

The principal centre of teaching education in Buddha period was
(A) Varanasi (B) Rajgrah

(C) Takshashila (D) Avadh

M ST |

. ‘TigETEM’ T ST AR AT g |

. 39 gEH o & 7 |

c. 394 @R gl § |

d. 3Gkt cfeqor § ‘wEmTesh o'y wEd g |
e. 38 T § 1g HT &M ST THYH BT 2 |

QO

O

F o o e § & wE) I g ;
(A)%h_clﬁa,c@d (B)%h_tﬁfb,c@e
(C) %ad a,d Td e (D) %haet a, b T d
Insert stem.

a. ‘Gottu Vadyam’ is a South Indian instrument.

b. Itis also called ‘Surbeen’.

c. Ithas frets.

d. Insouthitis also known as ‘Mahanatak Veena’.

e. Use of meend is very attractive in this instrument.

Choose the correct answer from the options given below :

(A) a, canddonly (B) b, cande only

(C) a,dand e only (D) a, bandd only
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82.

83.

84.

Tt wd SR form ot & e 8 7
(A) TEHR Tfd

(B) e fa

(C) Tsparn/sm fia

(D) THEmRe T

Which category does the Ropni and Jatsaar folk songs belong to ?
(A) Sanskar Geet

(B) Jaati Geet

(C) Kriya/Shram Geet

(D) Contemporary songs/Geet

frefefad et § & HH Nfeet T it Hemwr & 7
(A) =il et

(B) &= gt

(C) Tiar =

(D) et T

Who is an artist of Odissi dance from the following artists ?
(A) Yamini Krishnamurti

(B) Swapna Sundari

(C) Geeta Chandran

(D) Madhvi Mudgal

“GIeY T g1’ 1 Soot@ feped Tk
(A) W (B) T (C) AT=icd

Who mentioned “Dwadash Swara Murchana” ?

(A) Bharat (B) Matang (C) Nanyadev
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86.

A -1 g -1l
a. JETH .
b. Hfeamgn II. hiceh
c. A= . /Em
d. AfeRam A1e IV. HETSI
(A) a—=1, b—1Il, c=lll,d=1IV B) a-1Il, b1,

(C) a=ll,b=1l, c=1, d=1IV

Match List — | with List — 1.

List -1 List -1l
a. Yakshgaan I. Kerala
b. Kudiyattam Il. Karnataka
c. Mach 1. Assam
d. Ankiya Naat IV. Madhya Pradesh
(A) a=1, b=Il, c=1l,d=1V (B) a=1II, b—1,

(C) a=ll,b=1l, c=1, d=1IV

HIA-HT Al S & i 76l 8 7
(A) Hra=aAt

(B) @m

(C) wfeareht

(D) s

Which folk song does not belong to Bengal ?
(A) Bhawaiya

(B) Swaang

(C) Bhatiyali

(D) Baul

-24-

c—1Iv,d-1ll

(D) a—IV,b—1lll,c—1II, d—I

c—Iv,d-1ll

(D) a=IV,b—1ll,c—1l, d—1
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87.

88.

e &1 e feg M E |

YA — | : oKl Tk g Td & S a9l g & ME 1At 2 |

HYA — Il : FHoT FHEAHS T W = A 7 |

3w HUAT & 3Tt B Frefetfad fashedi § @ waifiss Iuge 3w I :
(A) YA | IR 111 T &

(B) YT | 3T I SHI Toid &

(C) U | TEl g W Y Il TTId B

(D) U | A & T A || TEl B

Given below are two statements.

Statement — | : Kajri is the seasonal song which is sung during Rainy season.

Statement — Il : Kajri is composed on contemporary happenings.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both statements | and Il are true

(B) Both statements | and Il are false

(C) Statement | is true but statement Il is false

(D) Statement | is false but statement Il is true

TE-SUSl HEd @

(A) FTEUS | (B) BetETE ¥

(C) sf@mn g (D) TSR &

PAI-DANDA is related to

(A) Bundelkhand (B) Chhatisgarh

(C) Haryana (D) Rajasthan
-25-
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89.

90.

Tt — | G- 11 & |1 gaferd |

A -1 T -1
a. 3™l | S
b. TiE EEIE]
c. UgEl . TSI
d. s Iv. femmerft smee
= feu o faehedt & @ TEl S A ¢

(A) a-1, b-1Il, c—1Ill,d-
B) a-lll,b—1, c—1II, d=1IV
(C) a—IV,b—1l, c—IIl,d—1
(D) a-Il, b=1lll,c—1V,d—1

Match List — | with List — 1.

List -1 List -1l
a. Asa [. Bengal
b. Maand [I. Punjab
c. Pahadi Ill. Rajasthan
d. Baul IV. Himalayan Region

Choose the correct answers from the options given below :

(A) a-1, b=1Il, c=1Ill,d =1V
B) a-lll,b—1, c—1II, d=1V
(C) a—IV,b—1l, c—IIl,d—1
(D) a-Il, b=l c—1IV,d—1

fadawmmen? ?

(A) hferar T (B) Tfia Frea
(C) = (D) Icd d1ed
Which of the following is Shyama ?

(A) Kavita Geet (B) Geet Natya

(C) Gaan (D) Nritya Natya
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91.

92.

HIIRUTHAT TG 8
(A) STfd & (B) =1 &
(C) &= A (D) =g | &

‘Sadharankrita’ is related to
(A) Jati (B) Murchana

(C) Sthay (D) Chatusarana

T THATIER T W 1 T 310 | =afeyd i |
I 3Te™I
Il e W=

III. I el
IV. Hedmt
= feu o foshedt # & @& IW G ¢

(A) L, v

B) I, LIV, 1

(C) I, Iv, 1,1

(D) 1,1V, 1,1

Arrange the following Ragas in a sequence according to their singing time.
I. Adana

II. Nat Bhairav

[ll. Puriya Kalyan

IV. Multani

Choose the correct answer from the options given below :

(A) 1,11, 1, 1V
B) 11,1, 1V, 1l
(C) LIV, 1, 11
(D) 1, IV, 1, |
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93.

94.

firt ogr | firgor @
(A) T + HeBR (B) TS + HeBR
(C) HTESl + HeBR (D) T + HegR

Miya Malhar has Mishran of

(A) Nat + Malhar (B) Gaur + Malhar
(C) Kanhara + Malhar (D) Megh + Malhar
e @1 e feg M E

HUF — | : T A% TSE0T HoAToT AT 1 T 7 |

T — || ; SEH heel dlgl HEAH 1 TANT &Il 2 |

3w HUAT b 3Tetieh H FeAiferd faehedl § @ waffuss Iuge 3w I :
(A) YT | AT || SHT T &

(B) YT | AT |l S TTeAd 8

(C) YT | T B W] B | 379 3

(D) U | TTeTa g T A 11 T B

Given below are two statements.

Statement — | : Raag Maru Bihag is from Kalyan That.

Statement — Il : One theevra Madhyam is used in it.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both statements | and Il are true

(B) Both statements | and Il are false

(C) Statement | is true but statement Il is false

(D) Statement | is false but statement Il is true
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95.

96.

Tt — | 1 G- 1| & gafed |

T -1 T - I
a. Jieh |. ehia ferm
b. TEaT II. sferat
c. firn IIl. TE-T-aefie
d. femar IV. $ha
F fou o forekedt B & TR SO
(A) a=I,b=1IV,c=lll,d=1 B) a=Ill,b=1V,c—Il,d-1
(C) a=IV,b—=Ill,c=1l,d—1 (D) a=lL,b=IV,c—1Il,d-1l
Match List — | with List — II.
List—1 List -1l
a. Nautanki [. Kavi Viram
b. Pandvani Il. Boliyan
c. Gidda Ill. Bahr-e-Taveel
d. Birha IV. lktaara

Choose the correct answer from the options given below :
(A) a=IL,b=1IV,c—1lll,d-1 B) a=Ill,b=1V,c—Il,d-1
(C) a-IV,b-lll,c-1l,d-1 (D) a-Lb—-1IV,c—1l,d-1lI

11 1 A SNy SRR o SFTTER 3Fd hA H afed & |
a. TifgeT I TEted /qaaetieht

b. 3

c. wfirer

d. fosed

e. Ny ufafy va wmf

Arrange the following steps in sequence according to the standard chapterisation of thesis.
a. Review of literature
b. Aim

Introduction

o

d. Conclusion

e. Methods and materials of research
(A) a,b,c,d, e (B) c,b,e,a,d
(C) b,a,ced (D) c,a,b,e,d
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97. F — I W FIA — 1| o ATy AT R |

T -1 LGLE
a. gl . TSd
b. @h Il. AERTSE
c. Higl Il ST
d. srfugan V. IS
(A) a=1l,b=1V,c—1l,d=1l B) a=1IV,b—=1Ill,c—=1,d-Il
(C) a=ll,b=Il,c=1,d=1V (D) a=I,b=lll,c—=1V,d-I
Match List — | with List — II.

List -1 List -1l

a. Sundari I. Gujarat
b. Dhak II. Maharashtra
c. Mohuri Ill. Bengal
d. Dandia IV. Odisha
(A) a=l,b=1IV,c—1l,d=1l (B) a=1IV,b—1ll,c—=I,d-1l
(C) a=ll,b=Il,c—=1,d-1V (D) a=I,b=Ml,c—1V,d-1

98. el Tifia & Tfia fepa qaati | fawea g 2
In how many sections (Paryay) the song of Rabindra sangeet are divided ?

(A) 03 (B) 06 (C) 07 (D) 09

99. AT A ‘ITe¥Ed qUT A’ hl G FohHeh T § 7 ?
(A) Hfd (B) ¥ (C) 3Ted e (D) 3FTed e
According to Matang, ‘Avyakt’ and ‘Kritrim’ are names of

(A) Shruti (B) Swar (C) Ahat Naad (D) Anahat Naad

100. ‘ol @Y o1 YA fope TR | BT @ 7

(A) =T (B) T (C) gudl (D) FqET
In which singing style ‘Laggi Ladi’ is used ?
(A) Khyal (B) Tappa (C) Thumri (D) Chaturang
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